C:# Examining Place Vaue

Deter mine which choice best answer s each question.

Name:

Answers

1) Which choice has adigit in the thousands place  2) Which choice has adigit in the ones place
that is exactly twice the value of the digit in the that is exactly twice the value of thedigitin || 1.
hundred thousands place? the tens place?

A. 851,692 A. 27 2.
B. 214,439 B.91
C. 471,289 C.36 3,
D. 913,428 D. 45

4,

3) Which choice hasadigit in the thousands place  4) Which choice has adigit in the ones place

that is exactly twice the value of the digit in the that is exactly three times the value of the 5.
ten thousands place? digit in the tens place?
A. 674,981 A.51,428 6.
B. 579,186 B. 18,674
C. 672,519 C. 59,276 7.
D. 148,832 D. 92,413

8.

5) Which choice has a digit in the ten thousands Which choice has adigit in the tens place

place that is exactly three times the value of the that is exactly three times the value of the 9.
digit in the ones place? digit in the thousands place?
A. 186,237 A. 4,123,398 10.
B. 738,514 B. 8,364,519
C. 364,262 C. 5,197,624
D. 458,762 D. 2,893,564

7)

9)

Which choice has adigit in thetens place that is  8)

exactly four times the value of the digit in the
ten thousands place?

A. 79,365
B. 37,189
C. 69,182
D. 15,644

Which choice has a digit in the thousands place 10)

that is exactly five timesthe value of the digit
in the ones place?

A. 58,479
B. 62,349
C. 19,584
D. 55,741

Which choice has adigit in the hundred
thousands place that is exactly four times the
value of the digit in the ones place?

A. 875,832
B. 524,871
C. 896,314
D. 697,354

Which choice has adigit in the ones place
that is exactly six times the value of the digit
in the tens place?

A.53
B.25
C.16
D.25
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